S5EME CALCULS feuille 4

Exercice 2

Calculer les expressions suivantes en détaillant les caleuls.

A=3x(T+12) D=114+11+13+13 % (7 —6) G=13-104+84+6x10=3
B=4=x12+9 E=2x9+12+6—(3+9) H=67-27+514+41=x79
C=54+Tx11 F=Tx(5+4)+12+-6-2 I=56-8=-24+36x59
Exercice 3

Calculer les expressions suivantes en détaillant les caleuls.

A=8x13+11 D=90+2=+(6-4)+11 =13 G=T=x124+2+24+11-12
B=7+9+3 E=3+3x124+44+6-9 H=16x(5—-35)+27+22
C=04+10—6 F=0+3+11x5+(11-10) I=21=x57—-67+294+43
Exercice 4

Caleuler les expressions suivantes en détaillant les caleuls.

A=124+3 =13 D=6+3+10x3—(11+11) G=6+13+4+-4=x11-11
B=12+11-13 E=10-10+2+3x(T+12) H=46x19+25-(44+42)
C=3x(10-5) F=8x0-2113_1245 I=82+34x%19—(33+6.2)
Exercice 5

Calculer les expressions suivantes en détaillant les caleuls.

A=12x(3+2) D=9+12-2x(13+11)+4 G=8-5+13x(10+6)+8
B=6-4+4 E=12+12x (3+12)+2-12 H=96x96+16—(62+79)
C=3x(6-4) F=84+0x(44+3)=(12-9) IT=84+17T=x82—-84+46
Exercice 6

Calculer les expressions suivantes en détaillant les caleuls.

A=6x(11-3) D=84+12x95-(9-7T)+2 G=3+4+10+2x(10-3)
B =10 = (6+10) F=2-2:24+11x448 H=19%x53-86+61+3
O=4-24+3 F=445+6+(3-2)%x13 I=514+814+46x49-59



